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� /

Leffective ⊃ cabcd

(

faγ
µfb

) (

fcγ
µfd

)

5 � � � �

cabcd = −2g2
∑

ij

U †
aiUibU

†
cjUjd

∑

m

cos (Mm(yi − yj))

M2
m

� � / Mm = m/R&

• ;� b �! � � Mm > 100TeV �� � � 6 �/ , � , � �� , � V �! � , " $

< * 4 <
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 � / ! �� � 6� � 8� R�� , � �� � 5 ! 
� n ≥ 2� 2 
 � � / ! � � � "! , � "O

cabcd ∝
∑

m

1

M2
m

∼ R2

∫

d|m| |m|n−3

Æ ½ È » ºÎ » » ¾ Á » º¼ ºÍ ¾ ¼ Ç ¼ ½¾ op Î Ç Ä ÆÅ ¾¼ ºÇ Á

• qr s t ã uv w xHy sz s z r s v{ |{ s} y y |T~ v s� { s ��� y } z s� z } �� � z{ � � � z r s v { |

L ∼ g2
[

f
i
γµf if̄ jγµf

j
]

(

1

s
+ 2

∑

m

cos (Mm(yi − yj)) δ
−M2

m
/M2

s

s−M2
m

)
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� �� �� � � �� �� � s z s uz � v � v� w � u{ v �þ y } u� � r v y s� } z s� � � �� � � ��� s s� } � z �

r s x � xr û �� �� �  ¡ ¢ �� � £ s 10−19m ¤y � � sz � w s 10−27secs ¢

q −q

Gravitons go
into bulk

Photons remain on brane

• q v ¥{ � z } x x{ v¦ � w } z � v � ¤ σ ∼ πR2
s ∼ 1TeV −2 ∼ 100 pb

• § � � � � � ¥ u} � z x{ v x v { z � v � v� z r s u v y y � � � v � s � s{ � | s � ~ � � x � � � � ~ s z r s

r v{ � £ v �

• � w x{ v¨ s w s � z � © �{ s |Tª v ~ |� } uz v { � � � x s uz{ � w →n�
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� v � } { z r s s¦ z{ } ~ � w s � � � v � � r } ¨ s ª s s �ÍÌ Î } zÐÏ � � � s� Ñ s r } ¨ s� � � v{ s~ ª } u� �

{ s } uz � v � v� ª { } � s z s � � � v � © Ñ r } z r } x x s � � � � � z{ v � �y | u� { ¨ s~ Ò � } � Ñ s � z � y y

r } ¨ s Î } z � � � xr | � � u� Ò

� v � � � � z s � z � v y � z � v � � z v Ó � s� � � z s� � s Ô � } z � v � � GMN = κ2TMN = ΛgMN

2M3
s

¢Ñ� z r ª � y � Λ} � ~ Ì Ñ } { x s~ Ï w sz{ � u
ds2 = e−2k|y|dxµdxνηµν − dy2

��� � �



qr s µµ u v w x v � s � z � y s} ~ z v } ¥ � s� z � � � � � ª sz Ñ s s � � ÕÖ× ØÙ ÚÙ ØÛÜ Ý ØÛ

y v u} y � £ s~ } z y = 0} � ~ y = b} � ~ Λ ©

T tension
µν =

e−A/2

2
δ(y)~ � } � (V,−V,−V,−V, 0)

Λ = − V 2
0

12M3
s

; V1 = −V0

b

Planck Weak
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• � v � � � ~ s{ � u} y } { � � � � � ¥ sy~ � φz{ } x x s~ v � z r sÌ Ñ s} � Ï ª { } � s Ñ r s{ s

gind
µν |y=b = e−2kbηµν�

SHiggs =

∫

d4x
√

gind[gµν∂µφ∂νφ
∗ − λ(|φ|2 − v2)2]

=

∫

d4x e−4kb[e2kbηµν∂µφ∂νφ
∗ − λ(|φ|2 − v2)2]

∫

d4x [ηµν∂µφ̂∂ν φ̂
∗ − λ(|φ̂|2 − (e−kbv)2]2]

Ñ r s{ s φ̂ = e−kbφ�

• §Ì � } z � { } y Ï Ó�~ � w s � � � v � } y èé è v � Ms� � s¦ x v � s � z � } y y | Ñ } { x s~ z v

e−kbMs� � � �~ � w s � � � v � } y xr | � � u� �

• ê v z s z r } z m2
Pl = M3

s

∫ b

0
e−2k|y|dy =

M3
s

k (1 − e−2kb)� � � v z ur } � � s~

r � s{ } { � ur } y y | � ¢
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• £ s{ v � w v ~ s �v � { � � �{ } ¨ � z v �ó ¢õô � s s� } ¨ v y u} � v x v z s � z � } y } � ~ � � y v �

u} y � £ s~ � s} { y = 0
V(z)

z

• � v{ { s uz � v � z v ê s Ñ z v � x v z s � z � } y � w } y y � v{ r �M−1
s ∼ m−1

Pl ©

V (r) = GN
m1m2

r
(1 +

C

(kr)2
)

•ö s u} � � s v� Ñ } { x� � �� � w v ~ s� r } ¨ s z | x� u} y w } � � � xHy � z z � � � � v � TeV −1ó

•ö � z z r s� { Ñ } ¨ s� � � uz � v � � } { s s¦ x v � s � z � } y y | y v u} y � £ s~ v � Ñ s } � ª { } � s� r s � u s uv � xHy � � � � � x x{ s� � s~ ª | v � y | TeV −1 � v z m−1
Pló
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s� � � uv � z{ � ª � z � v � z v e+e− → µ+µ− � � } ¨ v � ~ � } � y ¤ � s Ñ sz z ¤ø÷ � £ £ v ¤r s x �

xr ùûú ú � ú � Ó Ó ¢� ü� { � z w v ~ ý } z 600 þ ý è ¤ k/mPl = 1, 0.7, 0.5, 0.3, 0.2, 0.1

z v x �ª y } u � ¢ z v ª v z z v w �{ ý~ ¢
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• � z{ � � � z � ý v{ | →   ý¦ z{ } ~ � w ý � � � v � � ¤ ª � z � � z ý{ ý� z � � � � � z � ý� { v Ñ �

{ � � � z

• è } u� � w ~ ý � ý � ý{ } u | � � � ª { } � ý� → u} � ª ý �} � |�� � � £ ý � x z v ý¦ x z yy � w � z �ª � z � � uy ý v � | � z � ý� � � ¤ � � x ý{ � v¨ } ý uv � � z{ } � � z � ýz u� ¢

• � } � | � � � � } z � { ý�

• �� z ý{ ý� z � � � } { ý} � v{ � z � ~ | ô ~ v | v � { ý} y y | ª ýy � ý¨ ý Ms ∼ TeV � Ñ � |� v x{ v z v � ~ ý u} | Ò ¢
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